Visval Patterns

Rallanced

¥ the box plot will look .
X tric, the distribution |
wil e normal, there are

few exce(aﬂonallx\_j large or
small values, The mean wil one possible distribution of this boxplot
be about the same as the
median,
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Possitive Skewness /
A

A distribution with a positive

akew would have a longer l—
whisker in the Pos\hve

direction than in the neﬁaﬂve T

direction.
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A distribution with a
tive skew would have a
T whisker in the
tive direction than in the
positive direction.
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The lower quartie and the median are The minimum and the lower quartie are

this occurs when the 25% owerlapeed, this occurs when the 25%
of values are same between the lower of values are same between the
quartie and the median, minimum and the lower quartie.

outler(s)

I ‘ I The one-side outiier The two-sides outfier

when reviewing @ boxplot, an

o o
outlier is defined as a data '_ED_| ° ° I'[D'I °
point that is located outside
the whigkers of the boxplot 5 33880338 $008888
(eg outside 4.5 times the o S ° 0.

inférquartile range above the
upper quartie and bellow the
lower quarHIE).

outliers
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